Camocmosamenvnan paboma
no meme: «Henonnvie
Keaopammuovie ypasHeHus»

Bapuanm 1
Pemnth ypaBHEHUs:

3x%-12=0
2x’+6x=0
1,38x*=0
x*+81=0

% Xz- 7 =0
x*=5x
X*+5x-3=5x+6
x’=0,25
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Camocmoamenvnas paboma
no meme: «Henonnsie
KeaopamHuoie ypagHeHUs)

Bapuanm 2
PemmTh ypaBHEHUS:

. 2x%- 8=0

. 3x’+15x=0
.1,77x*=0

. X>+16=0

. é XZ-% =()

. X’=6x

. X>-5x-5=11-5x
. x*=0,36
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Camocmoamenvnan paboma
no meme: «Henonnsle
Keaopammuwle ypasHeHUs»

Bapuanm 3
PemmmTh ypaBHEHUS:

3x%-2=(0
2x%-8x=0
8,25x’=0
x*+121=0
S50
x*=7x

x> +2x-3=2x+6
x*=0,81
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Camocmoamensnan paboma
no meme: «Henonusle
KeaopamHuoie ypaeHeHUs)

Bapuanm 4
Peumth ypaBHEHUS:

. 3x%-75=0

. 3x%-15x=0

. 72,4x*=0

. X24+25=0

. % Xz-% =()

. X’=9x

. x>-3x-5=11-3x
. x*=0,49
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Camocmosamenvnan paboma
no meme: «Henonnwvie
Keaopammbwle YPAGHEHUA)

Bapuanm 1
Pemnth ypaBHeHus:

3x%-12=0
2x24+6x=0
1,38x’=0
x*+81=0

% XZ- 7 =0
x*=5x
X*+5x-3=5x+6
x*=0,25
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Camocmosamenvnan paboma
no meme: «Henonnvie
Keaopammuuwle ypasHeHus»

Bapuanm 2
Pemmth ypaBHEHUS:

. 2x%- 8=0

. 3x*+15x=0

. 1,77x*=0

. X?+16=0

. é xz-% =()

. X*=6x

. X>-5x-5=11-5x
. x*=0,36
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Camocmoamenvnan paboma
no meme: «Henonnovte
Keaopammbwle ypaGHEHUA)»

Bapuanm 3
PemmTh ypaBHEHUS:

3x%-2=0
2x2-8x=0
8,25x’=0
x*+121=0
FX-5 =0
x*=7x
X*+2x-3=2x+6
x’=0,81
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Camocmoamenvnan paboma
no meme: «Henonnsle
Keéaopammuuwle ypasHeHus»

Bapuanm 4
PemmTh ypaBHEHUS:

. 3x%-75=0

. 3x2-15x=0

. 72,4x*=0

. X2425=0

. % XZ-% =0

. X’=9x

. X>-7x-5=11-7x
. x*=0,49
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